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6.

Maximum ; 100 marks

Time : 1 hour and 15 minutes

Which famous social reformer wrote the books Jnana Yoga and Raja Yoga?

(A) Ranade (Bj:- Ramakrishna Paramhamsa

(C) Swami Vivekananda (D) Raja Ram Mohan Ray . '
Who among the following founded a national paper, a national school and a national
gymnasium and made the word ‘nation’ popular in the second half of the 19 century?

(A) Jyotindranath Tagore (B) Rajnarayan Bose

{(C) Nabagopal Mitra ' (D) Satyendranath Tagore

With which person the history of religious upheavel and reformation in Maharashtra
generally considered to be begun?

(A) Namdev (B} Jnaneswar
(C) Ramanand (D) Kabir
Name the most important centre of the revolt of 1857 in Rajasthan :
(A) Nasirabad (B) Jaisalmer
(C) Ajmer (D) Kotah
Whose efforts led to the enactment of the Age of Consent Act, 18917
(A) Raja Ram Mohan Roy (B) Iswarhara Chandra Vidvasagar
(C) Balagangadhar Tilak (D) Behramji M. Malabari
How many congress ministries were formed in 1937?
(A) Eight (B) Six
(C) Ten (D) Fourteen
When did the Chamber of Princes inaugurate?
(A) in 1821 (B) in 1858
- (0) in 1886 (D) in 1921

Which was the longest lasted parallel government formed in different parts of the country
during the Quit India Movement? j

(A) Tamluk (B) Satara
(C) DBallia (DY Dacea
‘Human Sacrifices — Act of 1846’ is associated with :
(4) Lord Aarding (B) . Lord Dalhousie
(C) Lord Auckland ' (D) Lord Ellenborough
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11.

12.

18.
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15.

16.

17.

18.

19.

20.

Who stated “Patriotism is religion and religion is love for India"?

(A) Swami Vivekananda (B) Raj Narain Bose
(C) Bankim Chandra Chatterji (D) Balagangadhar Tilak
7 NAM summit is to be held in :
(A) -Caracus (B) Cairo
(C) Rio Didanero (D) Tehran
Who was the first woman Ambassador of Iran?
(A) Sabreen Majeed (B} Mehrangis Dolasthahia
(C) Noorjahan Nijad (D) Marsai Afkham
Wha autﬁured ‘Show Your Tongue'?
{A) Maxim Gorky (B) Pablo Neruda
(C) Guntar Grass (D) Garcio Marquis
“The Dramatic Decade — The Indira Gandhi Years'is written by :
{A) Manmohan Singh (B) Pranab Kumar Mukherji
(C) Sonia Gandhi - (D) Narasimha Rao
Name the nation, which officially hosted the World Tourism Day, 2014 : -
(A) Greece (B) Mexico
(C) Spain (D) Srilanka
Records of specific incidents of student behaviour inside and outside the classroom :
{(A) Check List (B) Cumulative Record
(C) - Anecdotal Record (D) Sociometry
The principle of ‘Progressive differentiation’ is proposed by :
(A) Jerome S. Bruner (B) Dawid P. Ausubel
() Vypeotsky (D) R.M. Gagne

“The tool in the hands of artist (Teacher) to mould his materials (Students) in the studio
(School)” — which is the ‘tool' mentioned in the statement :

(A) Models of teaching (B) Mastery Learning
(C) Methods of Teaching (D) Curriculum
A test which provides provision for remedial teaching :
(A) Achievement test (B) Diagnostic test
(C) Norm referenced test (D) Criterion referenced test

teaching : -
(A) Nurturant effect (B) Social system
(C) Instructional effect (D) Principle of reaction

The element of models of teaching which denotes the indirect or implicit éffect of the
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21.

22,

23.

24.

25.

26.

217.

28.

n(A)=10 n(B)=6 n(C)=5 A, B,C aogmicig oaomooe] ecce caneydlp. ageld
AU BwC)=

(A) 300 (B) 21

(C) 55 : (D) 11

anerrildlesy ool ad QWQMG RmOBIT"?

@A) fr:d=10xeZ} " B fe:=20xeN]
(@ fr:a?=5 xeN| D) maewomyag)
n(A)=4 n(B)=17 ag@ad n(Au B) @es apralye #yoemm allawe #jdlo alleiwo agimeasni?
7 1 B 4,7 -

(€ 4, 1 - (1) eaueomme

Ccos X = i x agma 3-oaeom almybmnsocariiene. ag@ld cosec x o aflel agon?

D
-4

@) i (B)
s

w |

(©) (D)

=len

A>0 B>0 A+B=%mmnm5h‘& tan A.tan B agmafiend a@gaie @yslo aflel ag)@maos?

@A) ®) 715
|

@3

o | a__d,_,

(©)

22 exellenodiad aflemio 2 saiao gieq sienfwe 4 talan afinsdiwe 11 Sdenen agim deiwla
EUMDEISTIN S 86007 .

A 226, (B) 16C,
© 16C, (D) 200,
A=11,2 3} B=11, 2} agmlad A oidd aflomge B eilceleamas aminuemgions ageme ﬁmq.maaﬁ‘_?
(A) 32 : (B) 64
(C) 8- (D)  scus@ocmymgy

R:x+3y=6 agmal agamned cuosyjomemanidd ailda)aaflges e eimwacsn. R af eemoelo
apmaen?

A) 1,2 3 Z B) {1,3)

© o | ®) 3}
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29. f:R->R oomal e9dqyallafigend’ /(x)=3-4xagmoen. agmied / agma agamosn?

(A) esaurglal (B) cusrd-cuerd
(C) wsoemdsy (D)  godgglal
30. [:R - R ogomm cidq)allaflgigsnt/(x) = 22x - 11 agmmoer. aysoem g ="' apwod g(x) od
aflel agyi? .
x-11 1
@ 22 : ® 22x-11
1 x+11
{C) 22x +11 ® 22
31. em sdegpacan eaElgled (Diagonal matrix) (aflaenao (inverse) agomosn?
(A)  awwewoemdd (B) milagles
© myriage (D) eanddlawud

82. A agmal e b eodig @B A (A @pes (afleenmo) deidasomes Menimwm
ag)maem? ‘

(A) |Al>1 (B) |A|<1
(© |Al«0 @) |4]=0
33. A eq mioEle poglg apwod agemony n e N agsiemoege A” agymai agmowiidienis?
(A)  mpymiace (B) oilagles .
(C) woewmemd (D) sanddazid
34, mﬂ:ﬂmrrmndlﬁwﬁmﬁ}.? .
@ (A7) =47 ® (A7) =(a")
© (a7)'=a" D)  paewcmyag
35.  omidenm eaglglep saguad alleimaes mie ag)mwoen?
21 3
4 3 -1 2
d 6 4 8
25 2 1
(A) 10 B) 14
© 9 M) 156
36. A:[; 43] @pwodd A° —44* -7A% +114% - A-101 @yes afles agyarmosm?
(A) 0 B) A*-4A-5
© A+b (D) A*-4A-11
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37.

38.

39.

40.

41.

42.

43.

A agrmal ey qped eadlg epem. systam A* = A ©jo apan. ag@ied|A| =

(A) —Z2or2 (B) Oorl
(C) -3or3 M)  sauswonmmg
#(75) e allel agm@osn?
(A) 30 . : (B) 25
() 75 (D) 40

a @ b @o agepd moaleacem. a’-b" agmme’ ey eeecmymoaly (Prime number) w@po
@ReT. ag@l@d a® - b* =

(A) a+b B) a-b

(C) ab . 1

(1+x)" agmaed essenotiiod allejelecemodend ayrmonaas alge —%xzm@&‘rﬁ ag)sslad

m exf afle agos?
(A) 2 B) 4
© 3 . o

2

aw) @iesoemament (ildauemed wiodeao (1, V3 ] (0, 0}, (2, 0) eoumasn. g0 (@haeoemariied
EROMBOYODESRo (incentre) agjl@woem?

@) [1. ‘—‘g] ®B) [171,,?]
© [é%} D) Eg]

(@flenoemo AEC wyes danameaosn A(2, —3), B(- 2, 1) agoriicu. 09 @flesmem@dlen amabeso

@l 2x 43y =1 agm anauaieyes @smmcadaymesld C agm ildatio HSAMYGIdSYAN

BEUDYES BLIIBMNT aRMOIETI? :
(A) 2x+3y=14 (B) 2¢x+3y=9
(C) 3x+2y=5 D) 3x+2y=4

3x44y-1=0 agmm eoai@oe 6x+8y+k=0 agm coaiwie @ailejpn @omelo 4 cm @EDWOG
K wjes afleiewors? '

(A) 38 (B) —42

(C) 19&-21 (D) 38&—12

ax® +Zhxy +by* =0 agm mueaidie aldluledenm omd coaiegies aodlayegaoem
m, o m, So.ogBled m, +m, @es allel agmoen?

w 2 @ 2
a
© % @ =
a
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45.

46.

47.

438,

19.

50.

61.

22" + by + 2y" + 3x+ By +1 = 0 agom &) enoal] cosusBssisaleyas saiemans aglmwoem?
(A) tan't[g) (B) 0

i

. af4)
©@ 2 = mﬁ&J

(x-1)" + (=8 =r* x*+y*-8x+2y+8=0 agor) oo ayemend e oy miaedo
dniglaggiomyecusslod agmoer tadl?

(A) 2<r<8 B) r=2

(C) re<2 (D) r>2
agemmiege aay mimald domjexy =c’ agmm Hoedqdeanbanisasd uEsOIOYM aimaoniul
SOMRPSEOS ag)ffo ag)moar?

A 1 ®B) 3

€ 2 (D) 4

80} 0 000mIoauyns Wdanlo eandenmye WinoEae (0, 4) oo (0, 2) o amen agsded mmﬁmag
WIOS MDA jo afaoe?

(A) x*+8y=32 : (B) y*+8x=32

(C) =x*-8y=32 . (D) y*-8x=32

engR; eOGETO rligo ey eesscmiond (Major Axis o@) 3 @ 1 @ow 8} agelieflon aggdE
il agyem@osn?

2 . 3y
" 3 | (B) 5)(4)([-_;]
i E 3 2'
ol o
Jx+fy =1 m% o alle [-_::' -}] agym enfloggallad agymaoaem?
@ 3 ® 1
D) =L ; D) 2
A= {2"" +2" m, n agyerdlas eatomvglal ayiem mosuied | mepwond inf A aglowoem?
1 : 1 .
a3 (B) 3
b
©) r (D) 0

131/2016 8 ' A




52.

53.

54.

ab.

56.

57.

58.

59.

142Xy agem cddin:

22 32
(A) alicusenymy (B) monaidgy
(€)  ovoruedlenmy (D) pauswsamyeg)
Z; i agym cfidlend:
n=0 -L
{A) ool sflde) ), (B)  allcuzdsenam
(C)  annildlg ; (D) pouewommag

fila, b] > R agomed woemdlosemole (continuous) ag@emomaye (monotone) mmaﬂaﬂmﬁ

a@moen vad]?

(A)  f oo [a, b] @ oo endiiceniicd meg)
B) [ agmai R & dlaoad exiceniicd @per

(C) [ ogymat [a, b] @& dleod sodiendid egem’
(D) (B) wyo (C) @yo tadlawasm

sin x
f(@)= {— *#0 ogma:
D ox=0 ; .
(A) oo allwordfleuss misdal mgfﬂmm agyerilaoeny
(B) 0" @ crooicusdleaanmmy
(C)  wmemoo Allwedileyas mpsd.ol aydlemm aweniwosy
(D) auewdm@g)

f :la, 8] R agyrmad dlamodid sppieniicd apeemasied agamos wadl?

h b
[[Feofdx 2| [ fx)d

] b : b ]
[|F@|dz =| [ rx)de O f[fe)ds < | [ f(x)de
[Z4L 42 qgamaiong afler ¢] =+ agi@@oen?
2z 4
(A) 2m (B) 0
(C) 4m (D) -2m
— V=2 agyem mvadllgymauciodd eavauieins aflel agymwaeT?
@ 2 ®) V2
C 0 ' O 2v2
a;—lﬁg(xz +¥") agrmaflad anodeacenle; eeomeueng agmoem?
2 - , -1if ¥
(C) tan” ’[:‘" +C (D) 2loglx? +5*)
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60. |z-1]+|z +1 < 4 aflcfiulledlenmm apdugd cwewmaenied casuel agmoeT?

(A) agellgfieq adeinoe (B) agelgled udwssones pidadno
(C) ayemenfiond alooadwo D) paewomog
61. ayRIBEPE™ @E HQIGOISD d @o b Mo A ewaIweoeemElE agmoe vo?
(A) ab=0 (B) axb=0
(C) a+b=0 R (D) suewomag
62. 4i-j+3k go —2i+j-2k @o elosmimow QeTlg eudd agmosm?
2i—j+ b —-i+2j+2k
(A) - (B) b v
(©) ﬁif-?—“i‘i (D) i-2j-2k

63. 2i-3j+k; 3i+2j-k oo alledegpamaca an mosomdaamiad aloidspe agimawos?

(A) 4 (B) 8
© 195 ® 1419
64. a+b+c=0 |af=3 |b=5 |d=T mowodd a gio b guo wseyss earemanl ag)mwosn?
4 T
(4) :'l* (B) E
K - T
(€ B (D) 3
65. i-2j-3k 3i+Aj+k, i+2j4+2k agom QUGOIHUD 605 omod @owImd 2 @es aflel agm?
(A 6 B) -5
(€ 12 (D) -9
66. lo|=2 |b=5Jaxb|=8 mpwoeh a.bag)®?
(A4) 5 _ (B) 4
T3, 0 TR . (D) -5
67. ix(jxk)+ ix{kxi)+Ekx(ixj) wes ale agm?
(A) 0 (B) 2

(€ 20i+j+k) M) i+j+k

68. $—+n‘x=ﬂnmmmmdﬂnmwm,mﬂmﬂgmw

A 1,2 B) 21
© 41 D) 24
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69. :xi :;i 2y = 0 agymn aflanodbas @b cuaolodes elled aldanoncom?
(A) y=ce™ (B) y=ce™
©) y=ce™ +ee’+g (D) y=c¢e ™ +cpe

70. ®o6y s @EEIdlen MUl ageeeoenE ()emlaloed TR agsH @RSJIMT G0} DO, |EED
ag)yof sl @ogaad dndlaiomm?
(A)  aflapodbad Enllcd asowiaudd [B} apdenliscl anotianad
(C)  sdendlovd anotinmd (D) oirenld asouiaud

71.  an} altlemwlcl e goqllen eydaibas eidla) motaaed aoridenmy, daflamd agmawoen?
madee) 0-10 10-20 20-30 30-40 40-50 50-60

apayenl 3 9 7 R R |
(A) 33.43 (B) 34.33
(C) 35.84 : (D) 85.48

12.' aildleaym nldqsamaes anddaademles aawie (H.M.) agiaaosm?

(ntda ommemadd : 100, 200, 300, 400

' 1
192 . B et
(A) : (B) o5
1
7)) 250 D)y —
(©) (N 550
78. x e allawie epayeiawe eofdesomy. Q.D. (Quartile Deviation) agya?
x 10°-11 12 13 14
epoyerdl 3 12 13 12 8
A 2 (B) 4
© 1 (D) 3
74. ®m) frequency density curve moworsm @dnfleamaencgie (Normal curve) Sygodd ooy
cuamomd ER@ gy deane?
{A) Platy kuetic (B) Lepto kuetic
(C) Meso kuetic (D) None

P(A)= p,, P(B)= p,, P(A~ B)= p, epwodd F[H] ag)wosm?

@ & ® £
Ds A
o = 5 @ £
Py Fa
A 11 131/2016
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- 76.

77.

78.

9.

8.

81.

82,

83.

A} eaaum agdlemo 3 @ oysmal ses aieue curomes mowi®m (probability) agmwoe?

1 1
(A) ry (B) 3
1
€ 0 | (D) i
e} coalld eqymiler: aene mummmcsn jmeaem A @io B @jo agmi@d P(An B) =
(A) P(A)+ P(BIA) ®) P(B)+P(A/B)
(C) P(A).P(B) (D) P(A)+ P(B)

@) mooall@ eqymilee ees ayosmvosaym (complementary events) &gem A @y A' 9o
ag)®slad agymoeny codl?

(A)  plA)-p(A)=1 (B)  p(A)+p(A)=0
© p(A)-p(A)=0 (D)  plA)+ p(A)=1
@6 eaumed endagidlammodd smossamaicd gogmosy ueomes mowym (probability)
 agm@oeT?
(A 13 (B) 1/4
© 12 D) "0

@) eruoudld 5 Soem smogegic 11 ST Gl DM, (@adgoem amoesTmsia |
(Random selection) mserflaond oy 0 eeniod S50Mmas mowim agi@mwoen?

(A) 0 B 1
11 ; 5
5, T i
© 16 o) 16

moere esos emaiaiicd p.d.f (probability distribution function) ape:omm® apei?
(A) g(x}=~;- x=1,2234,5 * (B) f{x}:-;— x=1

© ,&{x}z-;E =218 o k{::):i x=1,2

f(x) agomel am eamommoy Oode ecudloenidd (Continuous Random Variable) ocfly p.d.f.
@R ag@mosm wd?

(A) If{x}tx =0 (B) Jlf(x}d::l::-l | i
© [fledx=1 | D) T flx)dx <0 |

X = ¢ an) qudlomoni apwond E(X )= '
A 0 B) ¢ |
© 1 D) %
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84. [f(x) e p.d.f. moey morideemy

(kx Osx=<l
flx)= { 0 otherwise
k apes alleiewn?
(A 2 B) 1
© o ® 3

85. endeemodlayes aulkmiiglen pasad agmoei?

(A) f{xjr—;-x-xl,xz ...... % % 2x; izj (B flx)=pgtx=0,1
-d ax
(€) plx, 4)=12 S x=0,3, 2. D) womormyag
86. X 90 Y goeend mumimaieand eowod E(X, V) agimwosn?
(A)  E(X)+E(Y) (B) E(X)-E(Y)

(C) E(X)E(Y) (D) E(X).E(Y)+EXY

:I-'."nﬂx (l-x) 0<x=<1 3 E(X) gimwsen?

87.
i R A B
3 : -
Ay R L
(A) 2 (B) 3
7 b
2 T =
(C) 5 (D) 7
88. Var (X) =9, Var (Y) = 5 spwod Var (X + 2Y - 5) e alleewm?
(A" 19 (B) 29
© 14 D) 41
89. flx)=ae™ a>0x>0 agmaflexd m.g.f. (moment generating function) agymwoeni?
PR e 1
A 1-—
(A) Bt (B) T
1 t 1"
C 14—
© 14+2% @) [ % u:|
90. 10 acrveodadledas an) acnoamidd 2 Rolslacd Malelw el id MY HmIS)eamy @
aoroeodmdlecd 1 283 4 b B 7T B9 10
Brmonee Ruws meeloeped 1 6 5 10 3 2 4 9 7 8
eerzonaem moiel mdelwempod 3 5 8 4 7 10 2 1 6 9
603 QPOOIEH-EINS [ OOERS:RIOS 008 E0Cflsalnztd e:0wadlnal ) ag)imwoem?
(A) -0.21 B) 0.21
(C) -0.47 (D) -0.47
13 131/2016
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91. m@ adleadgn (Null Hypothesis) wdlwodigeo et ocedenguewonemeld oo

agmowidleao? .

(A)  agod oa) (B) eesq]lagod
(C) eoeasq]Ilagod (D) scuewommyag)

92. e eyerigime ﬂuéonjlgﬂm% BB SIMSA MOWYM B} Galeel EHWOM @M ag)mosm?
(A)  ofloadld muoog flotd (B) mfigumogles mvaogflovd
(C)  oflesana moogllews (D) oamommg)

93. ampwirile odiniiglen aflmoal:
(A)  qflwdadcd (B) eqpowesd
(C) swom (D)  @pid.ag). adlaud

94. mayEecunimre allunesid craidesnen® ogel magaoeiid aflmosemo, @R nmunnmmﬂmm
SOOI aIOW;M Saseomoen?

(A EM%EEIWIT% (B) ovooadlcd
(€) ayeniig (D) miisog
95. aduitiladlendmd o (level of significance) agyme agaflo) osaleoem?
(A 0&2 (B) -3&3
C) 2&2 D) -1&1
96. md atdlenaim (Null hypothesis) ampoafigio eoa milledl.ajodd agomae muesalleamma?
(A)  easallagod (B) oasq]Il agod
(C) agod og) (D) EDUO@IMLDRY
97. @oWlo aymicuio 5.D. agymam 1 o @pw allmiigien yead alO®)m Galomm)?
(A)  escuemodioad cllmijgen: yauod (B) emodamd aullmiiglensyasiad

(C)  guodbeavdod amoftadd aflmiigleniyendd (D) guiowdd 't allondiglen yostod
98. moey mamildleamauaicd adegmuies AUdglle:nemo rgomBe] age?

(A) afloallcd (B)  a@ooaimilg
(©)  od (D) @ogly
99, eay qdnieod asgid @Ikend caae (Critical Region) agmoen?
(A)  mulledianm enalel (B) woadlengwym casiel
(C) oo eesle (A) & (B) (D) scuewommymg)

100. s eesemodiad adlimyle gousdd aow o, eoudlwabdmy’ (X o o @) Wm @inol@hmo 4, 4

3
agiicu@os. ng@lal 2 Al @ISOmBR MWLY® ag@@oem?
20
(A) 243 (B) 20
1

2 ® =

© 423 243
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